Ezample 10: Consider the matrix A = . Is A invertible? Explain. Calculate det(A).
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Stuce y‘aulc(A) £2 A is Mo“' 1 oQJQ[.;(c 5)4 FTT M,
det (A) = detCc) = 0.
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Proposition 1: If a n x n matrix A is not invertible, then det(A) = 0.

Theorem 4.6: A n x n matrix A is invertible if and only if det(A) # 0.

Proof: c‘&‘s_e_u T4 A s wot Ium,{-._l,lg’ Haeng
det(A) =0 by pro,oo.s‘df*mu 1
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AA" =T,
| = deb(T) = deF(AA")=det(A) det(4”)
det (A) 0



























































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































